71
> restart;
diff(log(1+x),x);
1
1+x an
[> restart;
eql:=log((1+x)/(1-x));
eq2:=series(eql,x);
1+x
eql .71n[ = ]
_ 23,2 5 7
q2:=2x+ T X + =X +0(x") 1.2)
> eq3:=convert (eq2,polynom);
eq3 =2x+ gx3 + EXS 1.3)
3 5
|> plot([eql,eq3],x=-1..1);
8
6
4
2
-1 - 0.5 1
-2 X
-4
-6
-8
V2
V@
[> restart;
eql:=sin(x)"2/(a"2*sin(x)"2+b"2*cos(x)"2);
L2
sin(x)
eql = 2.1.1)
I a sin(x)2 + b’ COS(X)2
[> int(eql,x=0..Pi/2);
T | bcsgn )
_L ( ng(b) a] @.1.2)
2 (az—bz)a o
[> assume (b>0);

| assume(a>0);

[> int(eql,x=0..Pi/2);

1 b

2 a- (a~+ b~)

MU,
[> int(int(1/sqrt(y”*3+1),y=sqrt(x)..2),x=0..4);

L[_ )g/iﬂ[(lﬁ—ﬂ [EuipticF[ﬁ I\/T%?,

/_1ﬁ—3]
1/3 +3
1J3 +3 1/3 -3 [ 2 [T
/1ﬁ—3/1ﬁ+3ﬁ 1J/3 -3 o
—3EllipticF[ —M,
J o 1J3 -3

W |-

_1ﬁ3]

/3 +3

/1ﬁ+2ﬁ—1/1ﬁ—2\/?+1/_2\/7+2 de
13 =3 13 +3 13 -3

> with(plots):
inequal ({y-sqrt(x)>0,y<2,x<4},x=0..5,y=0..3);

3
2
/_
y S
1
0
0 1 2 3 4

:> ?inequal;
> int(int(1/sqrt(y”"3+1),x=0..y"2),y=0..2);
4

3

2.1.3)

@2.1)

22.2)



1 -2 -2
A= 2 -3 -2
-202 1

:> with(LinearAlgebra):

> 1,P:=Eigenvectors(A);

1 -1 11
Lp=| -1 -1 01

>

-1 110
> MatrixInverse(P).A.P;
I 0 0
0 -1 0
0 0 -1

> A:=Matrix([[0,-11,[1,1]]);
0 -1
11
10
01

A=

> E:=IdentityMatrix(2);

E =

> f:=unapply(Determinant (A-t*E),t);
f=t=f =i+ 1

> £(8);

00

00

¥ original
[> restart;
> eql:=2*x"2-4*(a+l)*x+10*a+1;
eql =2x —4 (a+1)x+10a+1

> soll:=solve(diff(eql,x),x);
soll =a+1

> eq2:=expand (subs (x=soll,eql));
eq2 = 2d +6a—1
> solve(eq2,a);

> A:=Matrix([[1,-2,-2],[2,-3,-2],[-2,2,1]]);

(3.1.1)

(3.1.2)

(3.1.3)

(3.2.1)

3.2.2)

(3.2.3)

(3.2.9)

@.1.1)

(4.1.2)

(4.1.3)

(414

\ 4

3 1 3 1
22 a7

> al:=solve(soll=-1,a);

-2 -1 1 304
-10 N
— 26

eq3:=subs(x=-1,eql);

eq3 =7+ l4a
eq4:=subs(x=3,eql);
eq4:=7—2a
solve(eq2=7/9,a);
18
3’3
solve(eq4=7/9,a);
ﬁ
9

modified

;> restart;
> eql:=2*x"2-3.5*(a+l)*x+10*a+1;

eql =2x* =35 (a+ 1)x+10a+1
soll:=solve(diff(eql,x),x);

soll :=0.8750000000 a + 0.8750000000
eq2:=expand (subs (x=soll,eql));

eq2 = -1.531250000 a* + 6.937500000 @ — 0.531250000
solve(eq2,a);
0.07791657029, 4.452695675
al:=solve(soll=-1,a);
al = -2.142857143

a2:=solve(soll=3,a);
a2 =2.428571429

(4.1.4)

@.1.5)

@.1.6)

al = -2
> a2:=solve(soll=3,a);
a2 =2
> plot([subs(a=a2,eql),subs(a=0,eql), subs(a=al,eql)],
x=-2..4);
50
40
30
20

@.1.7)

4.1.8)

@.1.9)

(4.1.10)

@.2.1)

@4.22)

(4.2.3)

4.2.9)

@.2.5)

4.2.6)



> plot([subs(a=a2,eql), subs(a=0,eql),subs(a=al,eql)],
=-2..4);

-2 -1 1 3 4
_10/
—_— =204

> eq3:=subs(x=-1,eql);

eqg3 =65+ 13.5a 4.2.7)
> eqé4:=subs(x=3,eql);
eq4 =85—05a 4.2.8)
> sol2:=solve(eq2=7/9,a);
sol2 :=0.1972789116, 4.333333333 (4.2.9)
> evalf(sol2);
0.1972789116, 4.333333333 (4.2.10)
> sol3:=solve(eq4=7/9,a);
sol3 = 15.44444444 4.2.11)

> plot([subs(a=sol2[1],eql),subs(a=sol2[2],eql), subs
(a=so0l3,eql)],x=-2..4);
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